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Final Exam Review #1

1. Which expression is equivalent to (x+2)*(-3x(x —5)2

A, x*=3x* +15x+8
B. x* +3x® +3x+8
(cf'x3+3x2+27x+s
D. x*-3x* +15x-8
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2. Which is an equation of a parabola that has a directrix of y = -3 and a focus at
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3. The graph of the function f(x)= x will be shifted left 4 units and up 23 un1ts

Which i Lis the fung the function that corresponds to the resulting graph? e -\ K a3
Q f()=x+4+23

P4 f(x)=\/x—4+23
C J(x)=x+4-23
A f)=Ar-d-23
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4. In the figure below, PR and SR are tangent to circle O. '
Wt A= X
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S (= .57
IfOT= 10 cm and PR = 32 cm, what is the length of OR? ™
A. 3040 cm
B. 43.17 cm

. 32cm

5. In the figure below, the larger circle has a radius of 6 cm, and the smaller circle has a

radius of 2 om.

What is the approximate area of the shaded region?
A. 34.56 cm?
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D. 38.40 cm?
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6. Which choice shows the solution to the equation 5x* +7x =62

A Nl =0
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9. Which expression is equivalent to (5 — 4i)” + (4 +2i) 5\(\(‘) $ A\
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direction along the edge of the circle. At what angle of the unit circle did William’s

pencil tip stop?

L1 What is the inverse of ,f»(f) T—4*9 l

// -T2 X= 1~ -y J ‘\:‘;‘i

£ = ——1°1g(7() = _)_(;1: < B

C ) = log(7 - x)

log(4) "X %j UY\/

7 =Rl {Tos ! (-x+ = =Y _
4 (=x+71)
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12. The volume of a rectangular prism is represented by the expression

(x* +4x* —11x—30). If the length ig{ x + 2)¢ which of the following could be an

expression for the width? ’.9\ L’* ) ' l } 3()
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Final Exam Review #2

1) What is the solution set of the equatlo 2x — é %
P LR 7 \;

[V 7 i X-H=(X- 95@2(
W‘H‘ Fad MX-Y= X*-7K - ~axk
' X e
F_‘)i;“";; | | X / %&/‘ Y ))(( ++H
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3) What is the solution set of the equatlon ,:]: )u” m 7&'%3
PR L 2 (2,3} () -8) o
L B =
ReW) 't 20 + (XD xﬁ = Sikd
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4) Max solves a quadratic equation by completing the square. He shows a correct step % 9\
(x+2)>= -9 L

What are the solutions to his equatlon?

o (XHD =[-4
c. 3+2i
d —3+2i xra=t 3
| a=-aE i
5) Ifg(x) = —x+8and h(x) = —x 2, what is the value of g(R(-~8 ))?
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Final Exam Review #3 Name: 4[\ NSWex Keu
(Color by Number) ' 0

DB
Qb\ 1) Given AABC with a perpendicular blsector AD. CD=4x+9 and @ = 6x + 4.

Find the length of CB. \QY\"( )= U X4 (2. )4 l-]l =
Lre s

X= a5 . q(g); @

2) The battery lifetime is normally distributed for large samples with a standard deviation of
@ 70 days. If 16% of the batteries have a lifetime of 850 or higher, what is the average m‘b [o

battery life? ¢ fo
u’ Ny - (16 /v 9
/ 2 Wm %[")D i Ei gDB o1 #

3) The volume of a rectanBular pnsm ist nted by the expression
,6\%. (3 + 3x% - 10x — 24). Ifthe length 1@) and the width is greater than the height,
find the width. - ~\D -t :
= Sl X=X~
Jz 4o A

e T (DXt 2
| q(m:\ﬁ D A /?,,(: T (12}

SLQ)(\ 4) Solve forse =2 Y
@g L ({4 (ax*QQ( «»} (:zx» Qx 0 ,

1
(X\QSSMQW X AR D= = XK AX-BX "
“BX BT - XD

4y =0
\ \)‘) 5) Given the circumference of a circle is 40m, find the area of a 60° sector of this circle.

W quﬁ% =T (30) L@m * A o) e

g\ =1V a9
/‘Q\O 6) Express in degrees an angle of = radlans % 'WO\
D ) 4 V
B \(b Q‘D‘ ¥ Chv cumk ovna
Color by Number Answers: C - QTT r
I86-CWHITE) X+ 2 BEACK)— 24=(PANY

*You may color #’s 7-9 any color you wish!



Final Exam Review #4
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1. Which expression is equivalent to (x+ 6) —4x(x-2)?

A. % +18x +108x+216 Uy " g—lﬁ&

B. x+14x% +100x+216 % @ 3o
@+14x +116x+2> (X'}le ab)(ﬁ} b e

D. x*+22x? +116x+216
¥ [x2 {1ax? ‘j]
ML +O%X—¥'?FXMQX S e %|

2. Suppose p(x) = x* —5x* —8x+k . The remainder of the division of p(x) by (x—2)is -24. What is the
remainder of the division of p(x)by (x+3)? (A APR.2/

A. 44 11! .-"‘d:) *@fy\ %Ld
B. 25 b 2 (28
&> vo-3 o L -3y -8
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D. -35 :3
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compounded contmuoum‘eaﬂiﬁar in which the value of her account would be at least

A y\, \
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4, Which is an equation of a parabola that has a directrix of y = 3 and a focus at (1, 1)? . a /
(G.GPE.2)

\ y= l(x +1)F -2 yR— ‘f/\ﬁ:"’r\ o % _ -

B. y= (x+1)2+2
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5. What Value of his needed to complete the square for the equation
x> +8x+32=(x—h) +16? (A.REL4a) A =
e (s~ HY +167( Y24 4k +H=0 ()
A - A +i%
(g T = -3

: (xwﬂ?-%”lu
C
1 o e it (h=-D

A cos9 “) \/ ) = Eméa
e Y R (83( TS, (‘OS
C 1
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7. William put the tip of his pencil on the outer edge of a graph of the unit circle at the poifit (0, -1). He moved

h1s pencﬂ tip through an angle of 5? radians in a clockwise direction along the edge of the circle. At what

i 'angle of the unit circle did Wllham s pencﬂ tip stop? (F.TF.2)

8. What is the inverse of f(x)=5-2%? (F.BF.4a)

A =T

e %=5-Q

| log(2)
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Final Exam Review #5

1) Given AABC and AEDC, with AB = EC, m<ABC = m<CED, and BC = ED.
Which of the following is the reason for AABC = ACED?
a. Side-Side-Angle Postulate 6
b. Angle-Angle-Side Postulate
C;._ﬁid.e;SidenSidemBostu e AV ¢,
d. Side-Angle-Side Postulaté A E
2) Fillin the (1) and (2) blanks of the fwo column proof.
Given: BC = DA, BC || AD
Prove: AABC = ACDA
A D
Statements Reasons
1. BC = DA4; BC | AD 1. Given .
2. AC = 4C | 2 (_{eLlexive
3. <BCA =<CAD- _ 3. Alternate interior alkql s&are congruent
4., AABC = ACDA 4, (2) ﬁ(
a. (1) = reflexive property ; (2) = SSA
b...(D).=alternate.interior angles; (2) = SAS
c. ' (1) = reflexive property; (2) = S
. (1) = symmetric property; (2) = ASA
3) You want to paint a wall that is in 4) What are the radius and the
the shape of a rhombus. The wall coordinates of the center for,
has diagonals that are 5 meters equation (x + 2)2 + (y — 5)? =\100.
and 15 meters. Deelux Matt .
Emulsion paint costs $7.50 per
meter square. How much will it /a.//center: (2, -5); radius = 100
cost to paint this rhombus-shaped
wall? _ b center: (-2, 5); radius = 100
a. $75 c. center: (2, -5); radius = 10
Cc. $281.25 <”§ center: (-2, 5); radius = 13)
.~ $140.63 -

.

5 (9)09)= 757D cerkr (-25) (=10
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A boomerang follows the trajectory

f a parabola with the equation y =
2fx + 6)? + 3. What is the focus of
this parabola?

a. (-6, 3)
b. (-6, 11)

d. (-3,6)

AS)
focus (o, 3712

6) If the equation of a circle.is given
by (x + 6)2 + (y — 3)2 %‘64, what is
the approximate length of a 80°
sector?

a 8

b. 201.1 . ~N ¢
Qj’;'ﬁ) \/ LWC%\@E

7) I§f(-1) = -5 and f(2) = 1, which of
the following must be the function?

=2 "\ ""'5
A=re (=3
AT =7 (D= -l
C/M?(;)W;x 5}20—\3 ~2==t5

2 D-2=\
d. f(x)=9x+20

8) A system of equations is shown

below. \

(»

=[x—3|
1
o yEx
What is the distance between {

points of intersection of
the system?
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a.
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c.
d.
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9) _ A function is shown below.

‘5'1’% x+2, x < ~1-7
A%, -1<x<2
What is the value of the expression
f(2) + 2f(- f(7)?
Heald) — U -1
a. -16
b. -45
c
d. -23

10) Let f(x) = 14x3 + 28x? — 46x and
g(x) = 2x + 7. What is the"solution
set to the equation

11(x) = g(x)? 3

a {-3,0.1
8,1, 2D
C N 13}

d. {1,5,11}
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Final Exam Review #6

(1._Sim lify x? + 3x3 — (2x% + 1). "

a. 3x% —x%—

b. 3x°—x2F1 @+%x Q\X
c. 3Ix3+x2—-1

d 3x% + 2% 41 77)( "X
2. Simplify (6x3 + 8x — 10) (2x — 2) using long division. |
B 6%+ 12x + 32 + —— ,L “E ATt x 9.
b. 3x+7 4= wX? ,,ﬂ?“ E{X‘af +OX +8¥-i0 ,
o XX |,
c. 6x%—12x — 4+ 5“; o o
"3k + 3w+ 7+ — C@L 'b 2,
;fb-l Y.t M
3. What is the equat1on of a polynomial with @Lxﬂ__‘_,_z x==-3, andx =17 L{-
a x—5x —2x*-6 - > .
ey €S %(xrﬂ(x N .

<

""( X ST R X+ 3y Lo |, /w K> ¢
2 0P+ X~ (=D

E\ * 4. Describe the transformation of x* + y? = 9 to (x + 2%+ (y 3)2 =

(277 2P
/ V:/'),,
e ¥ A

N ﬁﬁown3 (P-I%t

) own 3

d. Right2,Up3 \{;H— 9‘ \)P
A\
\k)‘ Q " 5. Simplify and state the restrictions: 2+ax+ x2+4x+

O e 3D mfz Cnandg. +1ip

W\

C Ty % + -3, A L& g

(x— 2)(x+2) X ~ Ol
A s X 33

(x+3)(x—3)’
(x=2)(x+2) |

A (x+3)(x-3)’ x# —3,-2,3 X +UX'\ q X'Q\" L""X
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6. Simplify and state the restnctlons

ma)(xﬂ)

a
\«? d Ztx e —5,-1 ()H 5)0H)
W O x+5 ! '

B Ho
W . 7. Solve for x: 2 ---—-"""‘" _
¥ O XA D)

§§ o x=3 M\m@ma\ X+ + B e YD
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C_‘:Mn‘""‘“"”w‘l X * - 3 ) = 9"

\3}-‘/; Sigph 243i [O"]'l \Q HI-H%IM’_ _’___HJ__
Y % . RETE L Yot AT %5

U ’ 13
s, Sume as 35, K
<\§ {y\ c. 33+4i s @6 ((})Q
Qt ‘Q 33+4 - -
85
)\jf 9, Writey = x% — 16x + 3 in vertex form. k.OX Y /)7 O
_\ = 8)? =
> 7 (x —8)° — | lﬂ k== 7

=(x—-4)-
= (x — 16)? + 3 Y
Cﬂ;‘”z —e1) a&”

\(
u ;(f}“)(“‘l 3\\7 5.‘ LY %5} -

@ \ \Q\ \
y N £ :
S SN 1Q._State-the-center and radius of the circle: x2 + ¥ + 8x — 6y —11=0. Uk ]
@Q&TA %,\*\V\” .

L S G-y = any
xmxﬂw +j ,63_,_0!/5((; \U/)(%\H "3 AY(USI} b%f @3 5“’ [
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